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(1) nO0000000 PrOn0000S"CcR™MO0OD0000 2~y < o=y

ooooooooo pr=S"/~00000,000000p:S"— PrO0OO
O00. 000, PO000dO dp(z),p(y)) = min(|jz — y|, |z + y|) (z,y € S™) O
000. 0002 € S"0000,plr) =ac PPO0OODOO,0<e<+/2000,
dla,8) <e00 pePrO0000,ply)=p00yesS"0, |lr—yl<e0DOOO
gooooooooooobobo.
(2) A€ GL,y(R) = {n+1000000 }000. 000,000z€S°000
O |Az| £000000,0000 f4 : S* — S*0 fa(z) = Az/|]Az| 00000
0.00 f,0,0000F,: PP — PrO0000000,00, Faop=po ful
oo0o0o0 F,000000000000D0OO0

2] KODOOOO. 000,KO00100000 a(z),b(z) € K[x)0OOOO0 0000
000.00,a(z),b(x) 0000000 d(z), 000000 ¢z)000.

(1) g(z)a(x) + h(x)b(z) =d(z)000 g(z),h(x) e K[z)]0ODOOODODOOO.
2) (a(ox) b&))D,MQ(K[:I:])DDDDDDDDDDDDDDDDDDDDDD
D,(d(ox) E&))DDDDDDDD.

3|R?2\{o}000O0O00O0O F =" goog.
\{} (x’y) (I2+y2’x2+y2)
(1) Oy = {(cost,sint)|0<t<2r}0000000000,0000000000
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(1+1,0) (0<t<1000),
Cy=4 (2,t—1) (1<t<2000),
(4—t,3—1t) (2<t<3000).
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